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Y C i RCF EMT 5200 EMT 5000

ST S a b WE L a b mE L a b
8 p/ 58, 6 12.5 34. 7
0.9 0.1 0.1
1.6 3.4 0.4

9 9 26,5 14. 4 33.8 3 57. 4 12. 8 33. 6 1 57. 8 14. 4 35. 7

0.7 1.3 1.2 1.2 0.9 1.3
1.2 9.2 3.6 2.1 7.2 3.9

10 20 35.4 15. 8 32.7 30 55.3 16. 1 33.0 19 55. 7 15.3 33. 4

1.3 0.9 1.1 1.5 1.2 1.3 1.5 1.5 0.9

2.3 5.4 2.5 2.7 7.5 3.9 2.8 9.6 2.6

11 19 34. 6 17.5 33.0 19 534.5 17.5 33.0 33 54. 9 16. 9 32. 9

1.0 0.8 0.8 0.9 1.3 0.6 1.3 1.7 1.0

1.8 4.5 2.3 1.6 7.5 1.9 2.4 9.9 3.2

12 7 53.3 18. 7 32. 6 3 53.5 18. 6 32. 8 4 53.5 18. 0 32.3

0.9 1.1 0.7 1.4 1.2 0.4 1.3 1.8 0.8

1.8 3.9 2.1 2.7 6.5 1.2 2.5 10. 0 2.5

ZVH e L a b GiE& L a b EE L a b

10. 4 33. 2 16. 4 33.0 10. 3 10. 7
1.0 1.5 1.8 1.1 0.7 RCF&EU 0.6 RCF&RU
10 2.8 11.1 3.2 6.9 5.8

)RR E

EMT 5200 O %13,

hEr ERHERE O TE
BEBEEMERAL /-,

EHHRE (%)

03 0000O0O00O0OO000O00ODbDyYycODOOoOo@Og 2

SRR R MTEH ik 5y EikfmzE FHFREK GEHE i ZHRZE THERY
RCF 9.3 0.7 7.2 L 56. 3 1.3 2.4
A 19 EMT 5200 9.8 0.5 3.1 a 14. 6 1.3 8.9
E N T 5000 10. 2 0.5 5.2 b 33. 6 1.1 3.3
RCF 10. 6 0.7 6.4 L 5.7 1.5 2.7
B 19 EMT 5200 10. 2 0.4 3.1 a 16. 6 1.2 7.0
E M T 5000 10. 9 0.5 1.8 b 32.3 1.0 3.1
RCF 11.1 0.7 5.9 L 54.5 1.0 1.9
C 19 EMT 5200 10. 9 0.6 3.5 a 17. 9 1.1 5.9
E M T 5000 10. 9 0.5 4.8 b 33.2 0.7 2.1
04 RCFO EMT52000 00 EMT5000 0000
B2y FHRE R 3K T8 O FE (R 7%
£y |
EMT 5200 = 0. 669 (R C F)+ 3. 304 0. 876 0. 542
EMT 5000 = 0.357(R CF)+ 5.231 0.310 1. 611
EMT 5200 = 0. 075 (E M T 5000) + 7. 796 0.114 1. 117
Bk 2
EMT 5200 = 0. 5320(R CF)+ 4. 915 0. 787 0. 416
EMT 5000 = 0. 385(R C F) + 6. 712 0. 621 0. 495
EMT 5200 = 0. 439 (E M T 5000) + 5. 384 0. 431 0. 607
2F—4
EMT 5200 = 0.668(R C F) + 3. 330 0. 920 0.517
EMT 5000 = 0. 644(R C F) + 3. 303 0. 610 1.523
EMT 5200 = 0. 331 (E M T 5000) + 6. 023 0. 481 1. 160

050
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Boow 1K FHBI R TRE DR R ZE
RCF=—0.488(L) + 36. 384 -0. 800 1. 094
RCF=10.397(a)+ 4. 170 0. 903 0. 783
RCF=—0.128(b)+ 12. 546 -0. 107 1. 812
RCF=13.035(a/b)+ 4. 179 0. 909 0. 758
EMT 5200 =— 0. 361(L) + 29. 674 -0. 816 0. 765
EMT 5200 = (. 276 (a) + 6. 002 0. 865 0. 663
EMT 5200 =— 0.086 (b)+ 11.729 -0. 099 1. 316
EMT 5200 = 9. 058 (a/b)+ 6.012 0. 870 0. 652
EMT 5000 =— 0. 286 (L) + 25. 091 -0. 444 1. 722
EMT 5000 = 0. 323(a) + 5. 291 0. 695 1. 382
EMT 5000 =— 0.189 (b) + 14. 892 -0. 149 1. 901
EMT 5000 = 10. 656 (a/b) + 5. 275 0. 705 1. 364
RCF=—0.153(L)+ 0.313(a)— 0. 036 (b) + 15. 052 0. 920 0. 719
EMT 5200 =—0.165(L) + 0. 18 (a)— 0. 002 (b) + 16. 413 0. 898 0. 584
EMT 5000 = 0. 193 (L)+ 0.426(a)— 0.243 (b) -+ 1. 112 0. 731 1. 318
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